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Cap 21 – Superposição 



Interferência entre ondas 

Duas ou mais ondas se combinam formando uma única onda resultante 
cujo deslocamento é dado pelo princípio da superposição: 
 
 

   
 
Exemplo: som musical composto 

Dres  = D1 + D2 + … = Σi Di 



Interferência entre ondas 

21.2 . Standing Waves    593

STOP TO THINK 21.1 
 Two pulses on a string approach each other at 

speeds of 1 m/s. What is the shape of the string at t = 6 s?
x (m)

20 4 6 8 10 12 14 16 18 20

1 m/s 1 m/s

Approaching waves at t ! 0 s

x (m)
86 10 12 14

(a)

x (m)
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(b)

x (m)
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(c)

x (m)
86 10 12 14

(d)

21.2 Standing Waves
FIGURE 21.3 is a time-lapse photograph of a standing wave on a vibrating string. It’s 
not obvious from the photograph, but this is actually a superposition of two waves. 
To understand this, consider two sinusoidal waves with the same frequency, wave-
length, and amplitude traveling in opposite directions. For example, FIGURE 21.4a 
shows two waves on a string, and FIGURE 21.4b shows nine snapshot graphs, at intervals 
of 18 T. The dots identify two of the crests to help you visualize the wave movement.

At each point, the net displacement—the superposition—is found by adding the red 
displacement and the green displacement. FIGURE 21.4c shows the result. It is the wave 
you would actually observe. The blue dot shows that the blue wave is moving neither 
right nor left. The wave of Figure 21.4c is called a standing wave because the crests 
and troughs “stand in place” as the wave oscillates.

FIGURE 21.3 A vibrating string is an 
example of a standing wave.

FIGURE 21.4 The superposition of two sinusoidal waves traveling in opposite directions.
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traveling to the left.
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Em t = 0, os dois pulsos acima em uma corda se aproximam com velocidades 
de 1 m/s. Qual será o formato da corda no instante t = 6s? 



Interferência entre ondas 
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Em t = 0, os dois pulsos acima em uma corda se aproximam com velocidades 
de 1 m/s. Qual será o formato da corda no instante t = 6s? 



Distância entre dois nós adjacentes = λ / 2 

Anti-nó Anti-nó Anti-nó Anti-nó 

nó nó nó nó nó 

Amplitude 

Ondas estacionárias 

Onda resultante da superposição de duas ondas contra-
propagantes. 



    Exemplo: corda amarrada pelas extremidades 

m=2 → 2º  Harmônico 

m=1 → 1º  Harmônico  
     (ou modo fundamental) 

m=3 → 3º  Harmônico 

Ondas estacionárias 

m=1,2,3, ... 

Qto > a ordem, > a frequência! 



Teste Conceitual 
 
Uma corda de 60cm de comprimento vibra sob uma tensão de 1,0 N. Os 
resultados de cinco fotografias estroboscópicas sucessivas são mostrados 
na fig. A taxa do estroboscópio é fixada em 5000 flashes por minuto, e 
observações revelam que o deslocamento máximo ocorreu nos flashes 1 e 
5, sem nenhum outro máximo no intervalo entre eles. 
  
P: O comprimento de onda das ondas progressivas nessa corda vale 
 

A) 1,5cm   B) 40cm   C) 20cm   D) 60cm 
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 P: O período das ondas progressivas nessa corda vale 
 

A) 0,12s   B) 0,096s   C) 1,20s   D) 0,96s 
 

 



Teste Conceitual 
 
Uma corda de 60cm de comprimento vibra sob uma tensão de 1,0 N. Os 
resultados de cinco fotografias estroboscópicas sucessivas são mostrados 
na fig. A taxa do estroboscópio é fixada em 5000 flashes por minuto, e 
observações revelam que o deslocamento máximo ocorreu nos flashes 1 e 
5, sem nenhum outro máximo no intervalo entre eles. 
  
 P: A velocidade das ondas progressivas nessa corda vale 
 

A) 700cm/s   B) 235cm/s   C) 416cm/s   D) 333cm/s 
 

 



Reflexão e Transmissão de ondas 

O que acontece quando uma onda que propaga em uma corda 
encontra um obstáculo rígido ? 
 
ex:  corda fixa em uma parede 

P:  Por que volta invertido?: 
 
R: Ação e reação!  (3ª Lei de Newton): 
se a corda puxa a parede para cima, 
esta puxará a corda para baixo 

Outro jeito de ver: 
 
Assim como numa onda estacionária, o 
nó na parede pode ser visto como 
devido à interferência de dois pulsos 
contrapropagantes: o pulso real vindo 
de x = -∞  e um pulso ‘fictício’, invertido, 
vindo de x = +∞ 



Reflexão e Transmissão de ondas 

O que acontece quando uma onda que propaga em uma corda 
encontra um obstáculo flexível ? 
 
ex:  corda presa a um poste por um aro livre para se mover na vertical 

Nesse caso volta sem 
inverter... 



Reflexão e Transmissão de ondas 

Mais geralmente: o que acontece quando uma onda que propaga 
em uma corda encontra uma fronteira no meio de transmissão? 
 
ex:  duas cordas de diferentes densidades, amarradas pelas pontas 

1 1 2 2 µ1 < µ2 
Nesse caso a onda é parcialmente 
transmitida e parcialmente refletida, 
sendo que 

A)  Tanto o pulso transmitido como o 
refletido ficam invertidos 

B)  Nem o pulso transmitido nem o 
refletido ficam invertidos 

C)  O pulso refletido fica invertido, mas 
o transmitido não 

D)  O pulso transmitido fica invertido, 
mas o refletido não 
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2. Duas pontas livres 
Qual a condição p/ λ? 
Α) λm = 2L/m 
B) λm = 4L/m 
C) λm = 2L/(2m-1) 
D) λm = 4L/(2m-1) 

1. Duas pontas presas 
      λm = 2L/m 



2. Duas pontas livres  
     λm = 2L/m 

1. Duas pontas presas 
      λm = 2L/m 

3. Uma ponta livre 
e uma presa. Qual a  
condição p/ λ? 
Α) λm = 2L/m 
B) λm = 4L/m 
C) λm = 2L/(2m-1) 
D) λm = 4L/(2m-1) 



3. Uma ponta livre 
e uma presa.   
    λm = 4L/(2m-1) 

2. Duas pontas livres  
     λm = 2L/m 

1. Duas pontas presas 
      λm = 2L/m 



Ondas Estacionárias Acústicas 



Em uma coluna de ar longa e estreita, como um cano/tubo, é possível formar 
uma onda estacionária longitudinal, análoga à onda estacionária transversal 
estudada nas últimas aulas. 
 
Lembrando:  ondas sonoras são ondas longitudinais. 

Ondas Estacionárias Acústicas 

zona de  
compressão 

zona de  
rarefação 



Representação Gráfica: 

Ondas Estacionárias Acústicas 

zona de  
compressão 

zona de  
rarefação 



Ondas Estacionárias Acústicas 

Ondas Estacionárias em tubos Fechado-fechado 

? 
 
 
 
? 

Modo Fundamental: 

2° harmônico: 

3° harmônico: 



Ondas Estacionárias Acústicas 

Ondas Estacionárias em tubos Fechado-fechado 

Modo Fundamental: 

2° harmônico: 

3° harmônico: 

Pressão 
 
 
 
Deslocamento 



Ondas Estacionárias Acústicas 

Caso análogo ao dos modos em cordas com extremidades fixas.  
Aplicando as condições de contorno, 

v=λf 

0                                                L 

0                                                L 

0                                                L 

Ondas Estacionárias em tubos Fechado-fechado 



Tubo Aberto-Aberto 
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Tubo Aberto-Fechado 



Modo Fundamental: 

2° harmônico: 

? 
? 

* extremidade aberta  

Ondas Estacionárias Acústicas 

Ondas Estacionárias em tubos Aberto-Fechado 



Modo Fundamental: 

3° harmônico: 

Deslocamento 
Pressão 

Ondas Estacionárias Acústicas 

Ondas Estacionárias em tubos Aberto-Fechado 

* extremidade aberta  



Ondas Estacionárias Acústicas 

Exemplo: tubo Aberto-Fechado 
 

Gráfico Desloc. Longitudinal vs t 

Gráfico Pressão vs t 

* as partículas  
das extremidades  

não se movem com  
relação as paredes. 

O nó de pressão coincide com o anti-nó de deslocamento! 



Ondas Estacionárias Acústicas 

Ondas Estacionárias em um tubo Aberto-Fechado 

v=λf 



48117-1 SPEED OF SOUND

as the speed of sound in a medium with bulk modulus B and density r.Table 17-1
lists the speed of sound in various media.

The density of water is almost 1000 times greater than the density of air. If this
were the only relevant factor, we would expect from Eq. 17-3 that the speed of
sound in water would be considerably less than the speed of sound in air. However,
Table 17-1 shows us that the reverse is true.We conclude (again from Eq. 17-3) that
the bulk modulus of water must be more than 1000 times greater than that of air.
This is indeed the case.Water is much more incompressible than air, which (see Eq.
17-2) is another way of saying that its bulk modulus is much greater.

Formal Derivation of Eq. 17-3
We now derive Eq. 17-3 by direct application of Newton’s laws. Let a single
pulse in which air is compressed travel (from right to left) with speed v through the
air in a long tube, like that in Fig. 16-2. Let us run along with the pulse at that speed,
so that the pulse appears to stand still in our reference frame. Figure 17-3a
shows the situation as it is viewed from that frame. The pulse is standing still, and
air is moving at speed v through it from left to right.

Let the pressure of the undisturbed air be p and the pressure inside the
pulse be p ! "p, where "p is positive due to the compression. Consider an element
of air of thickness "x and face area A, moving toward the pulse at speed v. As this
element enters the pulse, the leading face of the element encounters a region of
higher pressure, which slows the element to speed v ! "v, in which "v is negative.
This slowing is complete when the rear face of the element reaches the pulse, which
requires time interval

(17-4)

Let us apply Newton’s second law to the element. During "t, the average
force on the element’s trailing face is pA toward the right, and the average force
on the leading face is ( p ! "p)A toward the left (Fig. 17-3b). Therefore, the
average net force on the element during "t is

F # pA $ ( p ! "p)A

# $"p A (net force). (17-5)

The minus sign indicates that the net force on the air element is directed to the
left in Fig. 17-3b. The volume of the element is A "x, so with the aid of Eq. 17-4,
we can write its mass as

"m # r "V # rA "x # rAv "t (mass). (17-6)

The average acceleration of the element during "t is

(acceleration). (17-7)a #
"v
"t

"t #
"x
v

.

Table 17-1 The Speed of Sounda

Medium Speed (m/s)

Gases
Air (0%C) 331
Air (20%C) 343
Helium 965
Hydrogen 1284
Liquids
Water (0%C) 1402
Water (20%C) 1482
Seawaterb 1522
Solids
Aluminum 6420
Steel 5941
Granite 6000

aAt 0%C and 1 atm pressure, except where noted.
bAt 20%C and 3.5% salinity.
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Figure 17-3 A compression pulse is sent from right to left down a long air-filled tube.The refer-
ence frame of the figure is chosen so that the pulse is at rest and the air moves from left to
right. (a) An element of air of width "x moves toward the pulse with speed v. (b) The leading
face of the element enters the pulse.The forces acting on the leading and trailing faces (due to
air pressure) are shown.

Elem. de fluido em movimento 

Região com pressão 
maior e velocidade menor 
(Δp > 0, Δv < 0) 

Extra: velocidade do som  
(seguindo Halliday+Resnick. Vide M. Nussenzveig para uma dedução mais cuidadosa) 

No referencial onde o fluido está parado, um pulso de som (região com pressão mais alta) 
se move com vel.  v = vsom para a esquerda.  
 
Em um referencial que acompanha o pulso, é o fluido que se desloca numa ‘corrente’ p/ a 
direita, com vel. v = vsom 

(lembre de Bernoulli !)  



Extra: velocidade do som  

48117-1 SPEED OF SOUND

as the speed of sound in a medium with bulk modulus B and density r.Table 17-1
lists the speed of sound in various media.
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(seguindo Halliday+Resnick. Vide M. Nussenzveig para uma dedução mais cuidadosa) 

2a Lei de Newton:   Fresult  = - ΔP A  = mfluido afluido 

= v Δt 

Uma pequena porção de fluido de largura Δx é desacelerada pela diferença de pressão 

= ρ (Α v Δt) (Δv / Δ t) 

= ρ Α v  Δv   

v2 = � �P

⇢�v/v



Extra: velocidade do som  
(seguindo Halliday+Resnick,. Vide M. Nussenzveig para uma dedução mais cuidadosa) 

P/ gás ideal, assumindo compressões e rarefações adiabáticas (no quadro):    
    

checando:  p/ ar [ 78% 28(N2), 22% 32(O2) ]   a T = 293K :  

v
som

=

r
�RT

m
mol

Lembrando: def. do módulo de compressibilidade:   B = � �P

�V/V
= � �P

�v/v

v =

s
B

⇢
=

r
�RT

m
mol

v2 = � �P

⇢�v/v
válido p/ sólidos, 
líquidos e gases! 

343 m/s ! 



A) Maior que a vel. do som no ar à mesma temperatura, devido tanto ao hélio 
ser menos denso que o ar quanto a ser um gás monoatômico 

B) Maior que a vel. do som no ar à mesma temperatura, devido apenas ao 
hélio ser menos denso que o ar, e apesar de ele ser um gás monoatômico 

C) Menor que a vel. do som no ar à mesma temperatura, devido tanto ao hélio 
ser menos denso que o ar quanto a ser um gás monoatômico 

D) Menor que a vel. do som no ar à mesma temperatura, devido apenas ao 
hélio ser menos denso que o ar, e apesar de ele ser um gás monoatômico 

Teste Conceitual 

v
som

=

r
�RT

m
mol

A velocidade do som em um recipiente contendo gás Hélio será 
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Ondas Estacionárias Acústicas 
 

Teste Conceitual 
 

Considere as ondas em uma corda de violão vibrando 
e as ondas sonoras que o referido violão produz no ar 
circundante. As ondas na corda do violão e as ondas 
sonoras devem ter o(a) mesmo(a) 

 
A) Comprimento de onda. 
B) Velocidade. 
C) Frequência. 
D) Amplitude. 



Ondas Estacionárias Acústicas 
 

Teste Conceitual 
 

Um tubo aberto numa extremidade e fechado na outra 
extremidade produz um som com frequência fundamental 
de 350 Hz. Se você agora abrir a extremidade fechada, a 
frequência fundamental torna-se 
 

A) 87,5 Hz. 
B) 175 Hz. 
C) 350 Hz. 
D) 700 Hz. 
E) 1400 Hz. 



 
 
 

Interferência entre ondas 

Microfone = Detector pontual 

Interf. totalmente construtiva 

A = 2A0 → I = 4 I0 

Interferencia totalmente destrutiva 

A = I = 0 

Interf. parcialmente construtiva 
A0< A < 2A0 → I0 < I < 4 I0 

Interf. parcialmente destrutiva 
0 < A < A0 → 0 < I < I0 

Ex: duas fontes idênticas (emitem ondas progressivas com mesmo sentido e amplitude A0), 
 separadas por alguma distância 



 
 
 

Interferência entre ondas 

Em geral, o caráter da interferência (construtiva, destrutiva ou algo intermediário) 
entre duas fontes do mesmo tipo depende de dois fatores distintos 
 
1.  A distância entre as fontes 
2.  A diferença de fase entre as fontes num dado instante de tempo 

Exemplo:  uma interferência destrutiva pode ser devido apenas a (1), apenas a 
(2), ou a uma combinação dos dois fatores 



Dois alto-falantes emitem ondas com λ = 2.0m. O alto-falante 2 está 1,0m à 
frente do outro, e fora de fase com o primeiro da forma indicada na figura. O 
que se pode fazer para causar interferencia construtiva entre as duas fontes? 
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where we used m = 1 because this is the first separation giving 
constructive interference. The speaker separation at which this oc-
curs is ! x = l/2. This is the situation shown in FIGURE 21.24.

Because !x = 0.75 m is l/2, the sound’s wavelength is 
l = 1.50 m. The next point of destructive interference, with 
m = 1, occurs when

 !f = 2p 
!x
l

+ !f0 = 2p 
!x
l

+ p = 3p rad

Thus the distance between the speakers when the sound intensity 
is again a minimum is

 !x = l = 1.50 m

ASSESS A separation of l gives constructive interference for two 
identical speakers (!f0 = 0). Here the phase difference of p rad 
between the speakers (one is pushing forward as the other pulls 
back) gives destructive interference at this separation.

FIGURE 21.24 Two out-of-phase sources 
generate waves that are in phase if the 
sources are one half-wavelength apart.

The sources are out of phase, !f0 = p rad.

The sources are
separated by half
a wavelength. 

As a result, the
waves are in
phase.

2

1

!x " 1
2l

STOP TO THINK 21.4 
 Two loudspeakers emit waves with l = 2.0 m. Speaker 2 

is 1.0 m in front of speaker 1. What, if anything, can be done to cause construc-
tive interference between the two waves?

 a. Move speaker 1 forward (to the right) 1.0 m.
 b. Move speaker 1 forward (to the right) 0.5 m.
 c. Move speaker 1 backward (to the left) 0.5 m.
 d. Move speaker 1 backward (to the left) 1.0 m.
 e. Nothing. The situation shown already causes constructive interference.
 f. Constructive interference is not possible for any placement of the speakers.

1.0 m l ! 2.0 m 

l ! 2.0 m 

1

2

21.6 The Mathematics of Interference
Let’s look more closely at the superposition of two waves. As two waves of equal 
amplitude and frequency travel together along the x-axis, the net displacement of the 
medium is

  D = D1 + D2 = a sin(kx1 - vt + f10 ) + a sin(kx2 - vt + f20 )

  = a sin f1 + a sin f2  
(21.24)

where the phases f1 and f2 were defined in Equation 21.20.
A useful trigonometric identity is

 sin a + sin b = 2 cos31
2 (a - b)4  sin31

2 (a + b)4  (21.25)

This identity is certainly not obvious, although it is easily proven by working back-
ward from the right side. We can use this identity to write the net displacement of 
Equation 21.24 as

 D = c 2a cos 1!f

2 2 d  sin(kxavg - vt + (f0)avg) (21.26)

where !f = f2 - f1 is the phase difference between the two waves, exactly as in 
Equation 21.21. xavg = (x1 + x2 )/2 is the average distance to the two sources and 
(f0 )avg = (f10 + f20 )/2 is the average phase constant of the sources.

The sine term shows that the superposition of the two waves is still a traveling 
wave. An observer would see a sinusoidal wave moving along the x-axis with the same 
wavelength and frequency as the original waves.

A) Mover o AF1 para a frente em 1.0m 
B) Mover o AF1 para a frente em 0.5m 
C) Mover o AF1 para a trás em 0.5m 
D) Mover o AF1 para a trás em 1.0m 

Teste conceitual 
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where we used m = 1 because this is the first separation giving 
constructive interference. The speaker separation at which this oc-
curs is ! x = l/2. This is the situation shown in FIGURE 21.24.
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STOP TO THINK 21.4 
 Two loudspeakers emit waves with l = 2.0 m. Speaker 2 

is 1.0 m in front of speaker 1. What, if anything, can be done to cause construc-
tive interference between the two waves?

 a. Move speaker 1 forward (to the right) 1.0 m.
 b. Move speaker 1 forward (to the right) 0.5 m.
 c. Move speaker 1 backward (to the left) 0.5 m.
 d. Move speaker 1 backward (to the left) 1.0 m.
 e. Nothing. The situation shown already causes constructive interference.
 f. Constructive interference is not possible for any placement of the speakers.
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21.6 The Mathematics of Interference
Let’s look more closely at the superposition of two waves. As two waves of equal 
amplitude and frequency travel together along the x-axis, the net displacement of the 
medium is

  D = D1 + D2 = a sin(kx1 - vt + f10 ) + a sin(kx2 - vt + f20 )

  = a sin f1 + a sin f2  
(21.24)

where the phases f1 and f2 were defined in Equation 21.20.
A useful trigonometric identity is

 sin a + sin b = 2 cos31
2 (a - b)4  sin31

2 (a + b)4  (21.25)

This identity is certainly not obvious, although it is easily proven by working back-
ward from the right side. We can use this identity to write the net displacement of 
Equation 21.24 as

 D = c 2a cos 1!f

2 2 d  sin(kxavg - vt + (f0)avg) (21.26)

where !f = f2 - f1 is the phase difference between the two waves, exactly as in 
Equation 21.21. xavg = (x1 + x2 )/2 is the average distance to the two sources and 
(f0 )avg = (f10 + f20 )/2 is the average phase constant of the sources.

The sine term shows that the superposition of the two waves is still a traveling 
wave. An observer would see a sinusoidal wave moving along the x-axis with the same 
wavelength and frequency as the original waves.

A) Mover o AF1 para a frente em 1.0m 
B) Mover o AF1 para a frente em 0.5m 
C) Mover o AF1 para a trás em 0.5m 
D) Mover o AF1 para a trás em 1.0m 

Teste conceitual 
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where we used m = 1 because this is the first separation giving 
constructive interference. The speaker separation at which this oc-
curs is ! x = l/2. This is the situation shown in FIGURE 21.24.
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STOP TO THINK 21.4 
 Two loudspeakers emit waves with l = 2.0 m. Speaker 2 

is 1.0 m in front of speaker 1. What, if anything, can be done to cause construc-
tive interference between the two waves?

 a. Move speaker 1 forward (to the right) 1.0 m.
 b. Move speaker 1 forward (to the right) 0.5 m.
 c. Move speaker 1 backward (to the left) 0.5 m.
 d. Move speaker 1 backward (to the left) 1.0 m.
 e. Nothing. The situation shown already causes constructive interference.
 f. Constructive interference is not possible for any placement of the speakers.
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21.6 The Mathematics of Interference
Let’s look more closely at the superposition of two waves. As two waves of equal 
amplitude and frequency travel together along the x-axis, the net displacement of the 
medium is

  D = D1 + D2 = a sin(kx1 - vt + f10 ) + a sin(kx2 - vt + f20 )

  = a sin f1 + a sin f2  
(21.24)

where the phases f1 and f2 were defined in Equation 21.20.
A useful trigonometric identity is

 sin a + sin b = 2 cos31
2 (a - b)4  sin31

2 (a + b)4  (21.25)

This identity is certainly not obvious, although it is easily proven by working back-
ward from the right side. We can use this identity to write the net displacement of 
Equation 21.24 as

 D = c 2a cos 1!f

2 2 d  sin(kxavg - vt + (f0)avg) (21.26)

where !f = f2 - f1 is the phase difference between the two waves, exactly as in 
Equation 21.21. xavg = (x1 + x2 )/2 is the average distance to the two sources and 
(f0 )avg = (f10 + f20 )/2 is the average phase constant of the sources.

The sine term shows that the superposition of the two waves is still a traveling 
wave. An observer would see a sinusoidal wave moving along the x-axis with the same 
wavelength and frequency as the original waves.

Teste conceitual 

A)  Atrasar a fase do AF1 de π/4 
B)  Atrasar a fase do AF1 de π/2 
C) Avançar a fase do AF1 de π/4 
D) Avançar a fase do AF1 de π/2 
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where we used m = 1 because this is the first separation giving 
constructive interference. The speaker separation at which this oc-
curs is ! x = l/2. This is the situation shown in FIGURE 21.24.

Because !x = 0.75 m is l/2, the sound’s wavelength is 
l = 1.50 m. The next point of destructive interference, with 
m = 1, occurs when

 !f = 2p 
!x
l

+ !f0 = 2p 
!x
l

+ p = 3p rad

Thus the distance between the speakers when the sound intensity 
is again a minimum is

 !x = l = 1.50 m

ASSESS A separation of l gives constructive interference for two 
identical speakers (!f0 = 0). Here the phase difference of p rad 
between the speakers (one is pushing forward as the other pulls 
back) gives destructive interference at this separation.

FIGURE 21.24 Two out-of-phase sources 
generate waves that are in phase if the 
sources are one half-wavelength apart.

The sources are out of phase, !f0 = p rad.

The sources are
separated by half
a wavelength. 

As a result, the
waves are in
phase.

2

1

!x " 1
2l

STOP TO THINK 21.4 
 Two loudspeakers emit waves with l = 2.0 m. Speaker 2 

is 1.0 m in front of speaker 1. What, if anything, can be done to cause construc-
tive interference between the two waves?

 a. Move speaker 1 forward (to the right) 1.0 m.
 b. Move speaker 1 forward (to the right) 0.5 m.
 c. Move speaker 1 backward (to the left) 0.5 m.
 d. Move speaker 1 backward (to the left) 1.0 m.
 e. Nothing. The situation shown already causes constructive interference.
 f. Constructive interference is not possible for any placement of the speakers.

1.0 m l ! 2.0 m 

l ! 2.0 m 

1

2

21.6 The Mathematics of Interference
Let’s look more closely at the superposition of two waves. As two waves of equal 
amplitude and frequency travel together along the x-axis, the net displacement of the 
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(21.24)

where the phases f1 and f2 were defined in Equation 21.20.
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2 (a - b)4  sin31
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This identity is certainly not obvious, although it is easily proven by working back-
ward from the right side. We can use this identity to write the net displacement of 
Equation 21.24 as

 D = c 2a cos 1!f

2 2 d  sin(kxavg - vt + (f0)avg) (21.26)

where !f = f2 - f1 is the phase difference between the two waves, exactly as in 
Equation 21.21. xavg = (x1 + x2 )/2 is the average distance to the two sources and 
(f0 )avg = (f10 + f20 )/2 is the average phase constant of the sources.

The sine term shows that the superposition of the two waves is still a traveling 
wave. An observer would see a sinusoidal wave moving along the x-axis with the same 
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Teste conceitual 

A)  Atrasar a fase do AF1 de π/4 
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Interferência entre ondas 

Análise matemática: Ιnterferência entre duas ondas senoidais de 
mesmas amplitude e frequência: 

obs: aqui, em cada 
onda tomamos uma 
origem diferente 
para a coordenada 
de posição (o ponto 
xi = 0 fica na 
respectiva fonte) 

y1 = A sen (kx1 � !t+ �10)

y2 = A sen (kx2 � !t+ �20)

distância da fonte 
 até o detector 

fase no local da 
fonte em t =0 



Interferência entre ondas 

 
 
 

Ιnterferência entre duas ondas senoidais de mesmas 
amplitude e frequência: 

usando: 

Amplitude 

y1 = A sen (kx1 � !t+ �10)

y2 = A sen (kx2 � !t+ �20)

sen(↵) + sen(�) = 2 cos

✓
↵� �

2

◆
sen

✓
↵+ �

2

◆

�̄ =
�10 + �20

2



Interferência tot. construtiva 

Interferência tot. destrutiva 

Interferência entre ondas 

 
 
 

Ιnterferência entre duas ondas senoidais de mesmas 
amplitude e frequência: 

Diferença de fase das duas 
ondas na posição do detector: 



Aplicação: Revestimentos óticos com película delgada... 

FIGURE 21.26 shows a light wave of wavelength l approaching a piece of glass that 
has been coated with a transparent film of thickness d whose index of refraction is n. 
The air-film boundary is a discontinuity at which the wave speed suddenly decreases, 
and you saw earlier, in Figure 21.8, that a discontinuity causes a reflection. Most of the 
light is transmitted into the film, but a little bit is reflected.

Furthermore, you saw in Figure 21.8 that the wave reflected from a discon-
tinuity at which the speed decreases is inverted with respect to the incident wave. 
For a sinusoidal wave, which we’re now assuming, the inversion is represented 
mathematically as a phase shift of p rad. The speed of a light wave decreases when 
it enters a material with a larger index of refraction. Thus a light wave that reflects 
from a boundary at which the index of refraction increases has a phase shift of P 
rad. There is no phase shift for the reflection from a boundary at which the index of 
refraction decreases. The reflection in Figure 21.26 is from a boundary between air 
(nair = 1.00) and a transparent film with nfilm 7 nair, so the reflected wave is inverted 
due to the phase shift of p rad.

When the transmitted wave reaches the glass, most of it continues on into the glass 
but a portion is reflected back to the left. We’ll assume that the index of refraction of 
the glass is larger than that of the film, nglass 7 nfilm, so this reflection also has a phase 
shift of p rad. This second reflection, after traveling back through the film, passes 
back into the air. There are now two equal-frequency waves traveling to the left, and 
these waves will interfere. If the two reflected waves are in phase, they will interfere 
constructively to cause a strong reflection. If the two reflected waves are out of phase, 
they will interfere destructively to cause a weak reflection or, if their amplitudes are 
equal, no reflection at all.

This suggests practical uses for thin-film optical coatings. The reflections from 
glass surfaces, even if weak, are often undesirable. For example, reflections degrade 
the performance of optical equipment. These reflections can be eliminated by coating 
the glass with a film whose thickness is chosen to cause destructive interference of the 
two reflected waves. This is an antireflection coating.

The amplitude of the reflected light depends on the phase difference between the 
two reflected waves. This phase difference is

  !f = f2 - f1 = (kx2 + f20 + p rad) - (kx1 + f10 + p rad)

  = 2p 
!x
lf 

+ !f0  
(21.30)

where we explicitly included the reflection phase shift of each wave. In this case, be-
cause both waves had a phase shift of p rad, the reflection phase shifts cancel.

The wavelength lf is the wavelength in the film because that’s where the path-
length difference !x occurs. You learned in Chapter 20 that the wavelength in a trans-
parent material with index of refraction n is lf = l/n, where the unsubscripted l is the 
wavelength in vacuum or air. That is, l is the wavelength that we measure on “our” 
side of the air-film boundary.

The path-length difference between the two waves is !x = 2d because wave 2 
travels through the film twice before rejoining wave 1. The two waves have a common 
origin—the initial division of the incident wave at the front surface of the film—so the 
inherent phase difference is !f0 = 0. Thus the phase difference of the two reflected 
waves is

 !f = 2p 
2d
l/n

= 2p 
2nd
l

 (21.31)

The interference is constructive, causing a strong reflection, when !f = m # 2p rad. 
So when both reflected waves have a phase of p rad, constructive interference occurs 
for wavelengths

 lC =
2nd
m

   m = 1, 2, 3, p  (constructive interference) (21.32)

FIGURE 21.26 The two reflections, one 
from the coating and one from the 
glass, interfere.

1. Incident wave
 approaches
    the first surface.

4. The two reflected
 waves are overlapped
 and interfere.

GlassThin film
Index n

d

lf

l

Air

2. Part of the wave reflects back
 with a phase shift of p rad, part
 continues on into the film. 

3. Part of the transmitted wave
 reflects at the second surface,
 part continues on into the glass.

Antireflection coatings use the interference 
of light waves to nearly eliminate 
reflections from glass surfaces.
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Condição p/ interferencia destrutiva: 

� =
2nd

m� 1/2



Ondas em 2D-3D 

 
 
 

 Recordando: Ondas 2D produzidas por uma fonte pontual 
 
 
 
 
 
 
 
 
 
 
 

  
 
As Frentes de Onda são as cristas da onda. Elas são 
separadas por um comprimento de onda e se afastam da fonte 
com velocidade v. 

λ 
λ 

λ 

v 

= distância com relação a fonte 



O que ocorre quando duas ondas circulares ou esféricas se 
superpõem??? 

Ondas em 2D-3D 



Interferência entre ondas: caso 2D 
 
 

Amplitude 

= A sen (kr1 � !t+ �10) +A sen (kr2 � !t+ �20)

onde: 

�̄ =
�10 + �20

2

�' =
2⇡

�
(r2 � r1) + �20 � �10

r̄ =
r1 + r2

2

.



 
 
 

Interferência max. construtiva 

Interferência  max.  
destrutiva 

�' =
2⇡

�
(r2 � r1) + �20 � �10

Interferência entre ondas: caso 2D 
 
 

.

Localizando os pontos de interferência construtiva/destrutiva  

Obs: p/ Fontes em Fase:  �20 � �10 = 0



 
 
 

Assumindo fontes em fase, qual a forma geométrica do conjunto de pontos 
nos quais φ2 – φ1 = 2π num dado instante do tempo?  

Interferência entre ondas: caso 2D 
 
 

A)  pontos discretos ao longo de uma 
linha reta 

B)  pontos discretos ao longo de uma 
linha curva 

C) uma linha reta contínua 
D) uma linha curva contínua 



A)  pontos discretos ao longo de uma 
linha reta 

B)  pontos discretos ao longo de uma 
linha curva 

C) uma linha reta contínua 
D) uma linha curva contínua 

 
 
 

Assumindo fontes em fase, qual a forma geométrica do conjunto de pontos 
nos quais φ2 – φ1 = 2π num dado instante do tempo?  

Interferência entre ondas: caso 2D 
 
 

Note que a propagação das ondas não afeta a 
localização desses pontos! 

 
“linha antinodal”, formada por pontos 
tipo ‘crista-crista’, ‘vale-vale’, e todos os 
demais nos quais r2 – r1  = λ  
  
Em todos esses pontos ocorre 
interferência construtiva! 

r2 – r1  = λ  



Interferência entre ondas: caso 2D 
 
 

612    c h a p t e r  21 . Superposition

The waves from two identical sources interfere constructively at points where the 
path-length difference is an integer number of wavelengths because, for these val-
ues of !r, crests are aligned with crests and troughs with troughs. The waves interfere 
destructively at points where the path-length difference is a half-integer number 
of wavelengths because, for these values of !r, crests are aligned with troughs. These 
two statements are the essence of interference.

NOTE ! Equation 21.39 applies only if the sources are in phase. If the sources are 
not in phase, you must use the more general Equation 21.38 to locate the points of 
constructive and destructive interference. "

Wave fronts are spaced exactly one wavelength apart; hence we can measure the 
distances r1 and r2 simply by counting the rings in the wave-front pattern. In FIGURE 21.29, 
which is based on Figure 21.28, point A is distance r1 = 3l from the first source and 
r2 = 2l from the second. The path-length difference is !rA = 1l, the condition for 
the maximum constructive interference of identical sources. Point B has !rB = 1

2  l, 
so it is a point of perfect destructive interference.

NOTE ! Interference is determined by !r, the path-length difference, rather than 
by r1 or r2. "

STOP TO THINK 21.5 
 The interference at point C in Figure 21.29 is

 a. Maximum constructive. b. Constructive, but less than maximum.
 c. Perfect destructive. d. Destructive, but not perfect.
 e. There is no interference at point C.

We can now locate the points of maximum constructive interference, for which 
!r = ml, by drawing a line through all the points at which !r = 0, another line 
through all the points at which !r = l, and so on. These lines, shown in red in 
FIGURE 21.30, are called antinodal lines. They are analogous to the antinodes of a 
standing wave, hence the name. An antinode is a point of maximum constructive 
interference; for circular waves, oscillation at maximum amplitude occurs along a 
continuous line. Similarly, destructive interference occurs along lines called nodal 
lines. The displacement is always zero along these lines, just as it is at a node in a 
standing-wave pattern.

FIGURE 21.29 The path-length difference 
!r determines whether the interference 
at a particular point is constructive or 
destructive.

At A, !rA " l, so this is a point
of constructive interference.

C

A 2l 2.5l

3l3l

B

At B, !rB "   l, so this is a point
of destructive interference.

1
2

FIGURE 21.30 The points of constructive and destructive interference fall along antinodal 
and nodal lines.

Antinodal lines, constructive
interference, oscillation with
maximum amplitude. Intensity
is at its maximum value.
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interference, no oscillation.
Intensity is zero.
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Interferência entre ondas: caso 2D 
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lines. The displacement is always zero along these lines, just as it is at a node in a 
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FIGURE 21.30 The points of constructive and destructive interference fall along antinodal 
and nodal lines.

Antinodal lines, constructive
interference, oscillation with
maximum amplitude. Intensity
is at its maximum value.
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Nodal lines, destructive
interference, no oscillation.
Intensity is zero.

Assumindo que se tratam de ondas  
sonoras, o que uma pessoa que  
caminha com velocidade cte. ao 
longo da reta indicada irá perceber? 
 
A)  Um som de frequencia constante 

mas com uma variação periódica 
no volume 

B)  Um som de volume constante 
mas com uma variação periódica 
na frequencia 

C)  Um som de volume e frequencia 
constantes 

D)  Um som de volume e frequencia 
variando periodicamente 



Interferência entre ondas: caso 2D 
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Assumindo que se tratam de ondas  
sonoras, o que uma pessoa que  
caminha com velocidade cte. ao 
longo da reta indicada irá perceber? 
 
A)  Um som de frequencia constante 

mas com uma variação periódica 
no volume 

B)  Um som de volume constante 
mas com uma variação periódica 
na frequencia 

C)  Um som de volume e frequencia 
constantes 

D)  Um som de volume e frequencia 
variando periodicamente 



 
 
 

Dois pequenos alto-falantes idênticos são conectados (em fase) na 
mesma fonte. Os alto-falantes estão 3,0m separados um do outro. Um 
observador está posicionado em x, a 4,0m em frente a um dos alto-
falantes (ver figura). Para qual valor do comprimento de onda o som 
ouvido pelo observador será menos intenso?  
obs: Assuma que a amplitude do som proveniente de cada fonte pode 
ser considerada constante na região analisada,  
 
 
 
 
 
 
 

 
(A)1m   (B) 2m  (C) 3m  (D)4m 

Alto-falante 1 

Alto- falante 2 

Teste conceitual 
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Dois pequenos alto-falantes idênticos são conectados (em fase) na 
mesma fonte. Os alto-falantes estão 3,0m separados um do outro. Um 
observador está posicionado em x, a 4,0m em frente a um dos alto-
falantes (ver figura). Para qual valor do comprimento de onda o som 
ouvido pelo observador será mais intenso?  
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ser considerada constante na região analisada,  
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Batimentos 



Supondo (para simplificação dos cálculos): 
 
1. Ponto de observação na origem → x = 0 
2. ondas com mesmas amplitudes A 
3. As duas fontes em fase 
4. A fase das fontes são φ10 = φ20 = π 

y1 = A sen (k1x� !1t+ �10)

y2 = A sen (k2x� !2t+ �20)

Batimentos: interferência entre duas ondas com frequências 
ligeiramente diferentes 

Batimentos 



 
 
 

Frequência de Modulação (baixa) 

Frequência média (alta) 

Batimentos: interferência entre duas ondas com frequências 
ligeiramente diferentes 

Batimentos 

y1 = A sen (k1x� !1t+ �10)

y2 = A sen (k2x� !2t+ �20)

Y = y1 + y2 = 2A cos(!
mod

t) sen(!̄t)



Batimentos: interferência entre duas ondas com frequências 
ligeiramente diferentes 

Batimentos 

Y = 2A cos(!
mod

t) sen(!̄t)

t 



Batimentos: interferência entre duas ondas com frequências 
ligeiramente diferentes 

Batimentos 

Y = 2A cos(!
mod

t) sen(!̄t)



Batimentos: interferência entre duas ondas com frequências 
ligeiramente diferentes 

Batimentos 

Y = 2A cos(!
mod

t) sen(!̄t)

Máximos de amplitude ocorrem a cada meio período de modulação  
(Tbat  =  Tmod / 2 )!  



Teste conceitual 
 
Duas cordas idênticas de violão, A e B , têm quase a mesma tensão. Quando ambas 
vibram em seus modos fundamentais, ouve-se um batimento de 3 Hz. Tentando 
fazer as cordas ficarem afinadas uma com a outra, um músico ‘aperta’ ligeiramente 
a corda B, aumentando a sua tensão. Ao fazer isso, a frequência de batimento vai 
aumentando continuamente até se tornar 6 Hz. Isso significa que: 
 
(A) antes de apertar, A tinha uma freqüência maior do que a de B, mas depois de 
apertar, B tem uma freqüência maior do que a de A 
(B) antes de apertar, B tinha uma freqüência maior do que a de A, mas depois de 
apertar, A tem uma frequência maior do que a de B 
C) antes e depois de apertar, a frequência de A sempre foi maior que a de B 
D) antes e depois de apertar, a frequência de B sempre foi maior que a de A 
 
 


